AMAROK

039795

Fitting instructions | Amarok Fender Flares
To suit: Amarok | DC| My23>

Part number: 2HJ071680SLFR

Installation time: 1 hour

ld
| y)‘ @

Commercial
Vehicles

FF1062 Page 1 of 12

17/04/2024



General notes and cautions.

Read the fitting instructions prior to accessory fitment.

Install this accessory following the fitting instructions. Failure to follow these fitting instructions could
result in vehicle or accessory damage and/or seriotis injury or death.

Be sure to recycle all discarded components and packaging following the local regulations,

Ensure appropriate clothing is worn and use safety equipment,

Vehicle and accessory warranty notes and cautions.

For correct installation and proper operation of vehicle and accessory, Volkswagen Group Australia Pty Ltd
recommends this accessory be fitted by a qualified Volkswagen technician.

During the accessory fitment, ensure all Australian automotive and dealership safety practices are followed.

Vehicle notes and cautions,
Inspect the vehicle and note any damage or concerns found prior to accessory fitment.

If any damage or concerns are found that interfere with the installation of the accessory, inform the customer
prior to the accessory fitment.

Ensure special care is taken and the applicable fitting instructions are followed to prevent any damage to the
vehicle and/or vehicle components.

Protect and safely store any vehicle components that are removed.

Ensure all bare metal surfaces are protected using automotive bare metal primer and touch-up paint or
suitable soft seal compound with rust inhibitor.

Ensure metal swarf and dust is removed from all vehicle surfaces,

Accessory notes and cautions.
It is advisable to seek assistance when lifting heavy components.
Do not repair or modify this accessory in any way as this will void the warranty.

Do not remove any of the accessory labels.

Important.

Read instructions carefully before installation.

PERSONAL PROTECTIVE EQUIPMENT: @ @ @

Mask Rubber Gloves Goggles Hearing Protection

FE1062 Page 2 of 12

17/04/2024




FRONT FENDER FLARE KIT:
Front Bumper Flares

X2

Front Fender Flares

Pan Head Screw J-Nut [ 6 | Alcohol Wipe
X16 x12 X2
PARK ASSIST KIT:
Foam Spacer Bezel Nut Bezel
' x4 X2 x2
Foam Cap Screw
x2 x2 x4
(Co)
]

REAR FENDER FLARE KIT:

Rear Fender Flares M6x20 Screw
x2

Pan Head Screw [ 6 | Alcohol Wipe
X2

n Fitting Instructions Il Anti-Abrassive Tape

x1

M6x30 Screw M6 Hex Nut
x2

M6 Washer
X2 X6
.@ )
\=
S F

FF1062 Page 3 of 12

Extrusion

X2

Extrusion

x2

Spacer 5.5mm
X2

=

17/04/2024




TOOLS:

Flat screwdriver

Sockets set,

Phillips head screwdriver Scissors

Torx bits: T15 & T25

i Car wash kit
Rouind File extension bar and ratchet >
@) 5
GLOSSARY
= : Equal
! Vehicle Part « ! Location o
e : Disconnect
<:l : Loose
: Part Provided : Connect
L # : Adjust
:Torque Setting A
Z : No Torque
: Even Space ‘Il : Install / Remove g .
o o 9 i Lock
: Reuse f’H H'{ : Two People
LA B G : Unlock
: Discard
 Check 5
: Clean
: Complete for A : Caution =
Both Sides
FF1062 Page 4 of 12 17/04/2024




FRONT FENDER FLARES INSTALLATION INSTRUCTIONS

/N LHS INSTALLATION INSTRUCTIONS SHOWN REPEAT ALL STEPS FOR THE RHS. /I\

1] & 2 |[(&<]

FF1062

Page 5 of 12 17/04/2024




FRONT FENDER FLARES INSTALLATION INSTRUCTIONS
8

Rubber Gloves

T

FF1062

Page 6 of 12 17/04/2024




17

STEP 20 ll’

17/04/2024

FF1062

Page 7 of 12




FRONT FENDER FLARES INSTALLATION INSTRUCTIONS

1 9| This step is required only for vehicles without park assist

24 HOURS

FF1062

Page 8 of 12 17/04/2024




REAR FENDER FLARES INSTALLATION INSTRUCTIONS

FF1062

Page 9 of 12 17/04/2024




REAR FENDER FLARES INSTALLATION INSTRUCTIONS

8

o —
T -
.

FF1062

Page 10 of 12 17/04/2024




REAR FENDER FLARES INSTALLATION INSTRUCTIONS

FF1062 Page 11 of 12 17/04/2024




REAR FENDER FLARES INSTALLATION INSTRUCTIONS

e T ——" |

2007

24 HOURS

FF1062

Page 12 of 12

17/04/2024




